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All questions are compulsory.
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Question Nos \@% 8 are very short answer type questions. Each question

caries 1 m§rk

(i) T TS 9 12 75 g TG 94 # WA v | 3 v Ida & IW A
st o1& W 50 oE 2
Question Nos. 9 to 12 are short answer type questions. Each question carries

3 marks. Maximum word limit of answer is 50 words.
(iv) 7o FHIE 13 | 18 dF &Y IO 9v9 ¥ gl g W 4 3@ ERta #) gdw
TE A yFRE fAren #1 IR A e m o= S 75 o= d)
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(2)
Questicn Nos. 13 to 18 are long answer typo questions Each question carnes

4 marks FEach queston has internal choice Maximum word limit of answer Is

75 words.

(v) TS FUE 19 ¥ 24 A% AW 30U W #| qAE qvs ue 6 3w amafea | v

v 8 s frm &) ) & e we dwoosg e R

Question Nos. 19 to 24 are long answer type questions Each question carmies

6 marks. Each question has internal choice. Maximum word limit of answer 1S

250 words
(¥ 7rg Ieda qe)
(Very Short Answer Type Questions)
w1 W geu &0 g 2 — i - oo
What is the equilibrium price ?
H¥I-2, wwwmm®mm%° 1
How do gradient n@in\ahty of demand curve occurs ?
w¥-3 qa gl @QM &t 1
Give an example of credit money
gE-4. iR gilm R sevea @ ofd w=& 4 1
What is the overdraft facility that serves the needs ?
He-5. amae wx few @ €0
What is called indirect taxes ?
q¥-5 T B et fFa af & o 2o
How many years coes the budcel penod ?
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(3)
HeA-7, e fafmg = R = #0
What do you mean by foreign exchange rate ?
jr CC) WA H= & Wit B am fafaw

Write the name of the account of batance of payment.

(erg Fordia W)
(Short Answer Type Questions)
ge-5. fr=fdfam o 3 @ #ifie: 1%2+1Yy=3
IR I T AN 1 REET amd | Ha o
3 3 k4
0 12
1 - I e
2 21
Complete the following table -
Production unit Total cost Total variable cost | Marginal cost
x@® s T ! N
gE“ |
0 \Q‘G 12 ! o
@Q
1 18 [ - -
2 21 | e
ge-10. ol siafie aoR @ fdwaw ffee @d &9 1+141=3

Write the characteristics of perfect competition market (Any three)

me-11.  Ra B aw =T R 3 @R we Ffmy 141+1=3

Explain the difference between the induced investment and autonomous

investment.
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(4)
3

W-12, P & fRvunee @ aren Hw
Explain the paradox of thrift.

(&d 8q wew)
(Long Answer Type Questions)

ST YO wqEe @ O WY ¥ m Rl (A @)
Write the measures for cofrect adveorse balance of payment. (Any four)

U/ OR
50 YR e g Iud-Bofe @ )
Explain visible import-export and invisible import-export.

-1, TR B Rmaw fRfae @ o))
Write the charactenstics of the budget. (Any four)

FMIOR
WA =g & gt @ e (@ ar)
Write the types of public.expenditure. (Any four)
T w wfe sefoe 4 R R (@ W)

Distinguish between'tricro-economics and macro-economics. (Any four)

1+1¢1+1=4

=13

2+2=4

1+141+1=4

NE-15. 1+1+141=4

FUT/OR
M wEs oy A ot B (@ ow)
Wirile the assumption of production possibility curve, (Any four)

mmﬁmmm??wmwmmﬁﬁmml 143=4

T=-16.
cost and

What do you mean by production cost 2 Distinguish between explicit

implicit cost
3% / OR
W & g a4 & e % s i) (@ TR)  1+1+14124

Write difference between returns to a factor and retumns to scale. (Any four)

_
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(5)
fafra mﬁmfmgma&mrmdﬂ?ﬁmaﬂ#wmmmmﬁ
a%] o

q-17.
242=4
fagan ?
fve this problem ?
Explain the difficulties of barter gystem. HOW did money SOWVE pr
e / OR
$ira 4% MR NS & A FR W el (@ ar) 1+1e11=4
' H
Expiain the difference between central bank and commercial bank. (Any four)
xpiain
| ez (GNP) &
etz (GDP) U4 e 51T
qe-18. B GO & UR W OHSA L0y
2+2=4
o BT
] T A
! 9,300
(1) Tt gl v FAmd @ A
i 6.100
(2) qotma aEgEh vd dand A
\ 1,800
(3) Fmard
gt & 2,000
(4) ‘2§)§
Based on @ollowmg nformation, calculate Gross Domestic Product (GDP)
Q
and Gross National Product (GNP) .
items T in Crore
(1) Production of consumer goods and services Q9,300
(2)  Production of capital goods and services 6,100
1,800
(3) import
2,000
(4) Export
F.TI'
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(6)

siya/OR
Frtfafiey shogt @ ¥ B 3 80 A ya & mwen P
7 ? g o
(1) Aa 30,000
20 fm 10,000
(3) &aw 10,000
(4) ®&nH 10,000
(5) 3o 50,000
(6) wam wy A 4.000
Based on the following information, calculate National Incoma by [ncome Method
tems T in Crore
(1)  Satary 30,000
(2) Rent 10.000
(3)  Profit 0,000
(4)  Interest \\Q@ 10.000
(5) Ccnnn.'=.ur'n;:ttior§2,§ 50 000
(6) Gross @ﬁ}stic investment 4,000
3 .
(& 3o we)

(Long Answer Type Questions)
ME-19.  Rdit am @ quRd ¥ v e @ TUEET! (B T) 1414141 +1+1=6
Explain the fiscal measures 1o correct excess demand. (Any six)
Sua / OR
BN B AR A A s e @8 o)

Criticise the Keynesian theory of employment. (Any six)
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7
W A T d ofx a) ez o &R R 7 T I A oy v ok e

I+3eg

W =20,

&fam

Why is the rate of rise in national mcome In India slow ? Give your suggestions

to increase natona! INncome

3reqar { OR
mﬁmﬁmﬁmwmm*ﬁww"ﬂm%mﬂma

e # R i 1m s 4 24242=6
Explain the problem of doyble counting &8s Clear by example and how 1o avoid

the problem of double counting ?
=21, T 1] \
T B BT A B R Yy ad  aem BR! (B B) 141414141445

Explain the factors affecting the price elasticity of demand. (Any six)
Jyar/OR
mmwm@m%mmﬁmml 145=6
‘ What is @%eanrng of demand ? Explain the main elements of demand.
-2, I B AR ) ahm arm S 1%41%41%+1%s6
Explain consumer equilibrium with diagram,
et/ OR
i IR e B @ Aty vd i gr weame

Explain the !aw of diminishing margina| utility with the help of table ana diagram
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(8)
- ) 1+1+1+1+1+1=6
me-23 o b Bom & s PRl

ly (Any six)
Write the exceptions of 1aw of supply (

st / OR

. o e faflw (o)
g ra v JaRd

ion function
diff, between chort period and long period production
Write the grence

(Any six)
ofarfin & Y T £fwo @ ®) 1+141+1+1+1=6

wEA-24. raferar @ reias

h between monopoly and monopolistic compelition. (Any six)
Distinguis

Fwua /i OR

bo aom e B Rt ffael (3% )

Wrile the charactenstics of market pnce. (Any six)
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